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(a) Solve y'=eé&™ +y-1.(10 %)
(b) Solve y"+9y=2sec3x. (10 %)
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(a) Evaluate (f —E—;l-—ﬁdz, C: |z]=1, counterclockwise. (10 %)
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(b) Evaluate j—‘?'f‘-’i-;-‘-abc (15 %)

3. Find the inverse Laplace transform of F(s) = -2-42¥§-—t]i—-—(1 -e™). (10 %)
S +25+5
4. The solution of the problem
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can be represented by u(x,1) =) c,u,(x,0)= Y .c,X,(x)T,().
Find the separated-variable solution u,(x,t). (15 %)
5. Find the Fourier transform of f(¢) = f[e‘““"’z I Z o(r-mT)]dr , where a

—0 m=—c

and T are constants, and &(-) is the Dirac delta function. (15 %)

6. Find the series solution about x=0 for 2x*y"~xy'+(1+x)y=0. (15 %)
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